
 

Twig Beanie Free Pattern by TheThingsWeDo Blog 

 

Materials: 
– size 8 (5.0mm) Circular Knitting Needles; 

– set of four size 8 (5.0mm) double pointed knitting needles; 

– 3 skeins of Peru (Turkey) wool blend (150 grams)/ 220yards/200meters; 

– yarn needle; 

Gauge: 
18 sts and 22 rows = 4×4in or 10×10cm 

Size: 
Hat diameter is 54 cm/22 in 

The pattern is multiple to 12sts, use this info in case you wish to change the hat 
diameter. 

Abbreviations: 
K – Knit 
P – Purl 
K2tog – knit two stitches together 
P2tog – purl two stitches together 



cl1 – slip one stitch to cable needle and hold to front of work, knit one, knit one from 
cable needle 
cr1 – slip one stitch to cable needle and hold to back of work, knit one, knit one from 
cable needle 

Base of the hat: 
Cast on 84 stitches using circular knitting needles and join for knitting in the round. 
Knit 10cm/4in of K1,P1 rib. 
Pattern: 
Row 1: *K1, P4, K3, P4* repeat until the end of row; 
Row 2 and all even rows: (WS) Knit the knit stitches and purl the purl stitches. 
*start of the pattern* 
Row 3: *K1, P3, CR1, K1, CL1, P3* repeat until the end of row; 
Row 5: *K1,P2, CR1, P1, K1, P1, CL1,P2* repeat until the end of row; 
Row 7: *K1, P1, CR1, P2, K1, P2, CL1,P1* repeat until the end of row; 
Row 9: *K1, CR1, P2, K3, P2, CL1* repeat until the end of row; 

Repeat rows 2-10 to form a pattern. 

The base of the hat is 14cm/5.5in long. Repeat rows 2-10 4 times to achieve this 
length. After that you can start forming the crown of the hat. 

Pattern chart: 

 



Notes to the pattern: 
Pattern is multiple to 12sts. 
Chart is worked from right to left and bottom to top 
 
Decrease: 
Decreases are made on even rows. 

Row 1: *K1,P3,CR1,K1,CL1,P3* repeat until the end of row; 
Row 2:*K1, P2Tog, P1, K1, P1, K1, P1, K1, P1, P2Tog* repeat until the end of 
row. 70 stitches are left; 
Row 3: *K1, P1, CR1,P1,K1, P1, CL1, P1* repeat until the end of row. 
Row 4:*K1, P1, K1, P2Tog, K1, P2Tog, K1, P1* repeat until the end of 
row. 56 stitches are left; 
Row 5:*K1, CR1, P1, K1, P1, CL1* repeat until the end of row. 
Row 6:*K2, P2Tog, K1, P2Tog, K1*repeat until the end of row. 42 stitches are left; 
Row 7:*K2, P1, K1, P1, K1* repeat until the end of row. 
Row 8: *K1, K2Tog, K2Tog, K1*repeat until the end of row. 28 stitches are left; 
Row 9: *K all row; 
Row 10: K2Tog until the end of row. 14 stitches are left; 
Row 11: *K all row; 
Row 12: *K2Tog until the end of row. 7 stitches are left; 
Cut yarn. Please, leave the long tail and thread it through the remaining 
seven stitches.  Pull tight and weave in the end on the inside of the beanie. 
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